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1

2 ones, 7 tenths and 9 thmsandths is

(1) 0.579

(2) 5.079 o =
(3) 5.709

(4) 5.790

Apples were sold at 5 for $1. How much change did Mrs Tan get if she
paid the cashier $50 for 20 apples?

(1) $8

2) %10
3) $20
(4) %46

The area of 3 rectangle is 48 cm®. The ratio of jis length to its breadth is
3 : 1. Find the length of the rectangie.

(1)  16cm
(2)  12cm
(3) 3cm
(4)  8cm
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The table below shows the number of library books Primary 6M pupils
borrowed last week.

B 2
11 18

Number of library books
| Number of pupils

0
4

A~

Sy

How many pupils borrowed at least 2 library books?

(1) 18

(2) 29
(3) 33
(4) 44

The graph below shows the weekly expenditure of three children, James,
Pei Hua and Raman. If their weekly allowance is $10 each, what is their
fotal savings?

Weekly Expenditure

Amount in dollars
Lo T L S I O = T = T o R e

Pei Hua Raman

(1) $9

(2) $18
(3) %2
4) 330
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6 ABCD is a parallelogram. Z ABC = 70° and ~ CAD = 30°. Find Z ACD.
| The figure is not drawn to scale.

A D

(1) 60°
(2) 70°
(3) 80°
(4) 90°

7 The table below shows the parking charges at a car park.
Find the cost of parking for 3 %h.

1°t hour | $0.90

Every additional %h or part thereof $0.50

(1) $2.00°
(2) $3.40
(3) $3.60
(4) $3.90
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Marcus spent 40% of his money on a badminton racket and 25% of the
remainder on a book. What fraction of his money was left?

=
@ o
@ o
@ o

Which of the following can be folded to form a cuboid?
(1)

{2)

- (3)

(4)
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11

A book and a pencil case msi $2x_ If the book cost $11, find the cost of
the pencil case.

(1)
(2)
(3)

4

1

$11x
$22x
d(2x +11)

$(2x ~ 11)

3 of a cup is filled with orange juice. The orange juice is then poured

into an empty jug which has a volume four times that of 2 cup. What

fraction of the jug is filled with orange juice?

(1)

(2)

(3)

(4)

WWW.Mmisskoh.com


koh
New Stamp


12 The figure, not drawn to scale, shows a rectangle ABCD being folded
along DE. Given that ~ CDE = 30°, find £ x.

D

(1) 15°
(2) 30°

(3) 45°

4) 60°

13 The Mathematics test scores for three girls are 55, 85 and 60 respectively.
If the average score of Gopal and the three girls is 70, what is the
Mathematics test score of Gopal?

(1) 45
(2) 60
(3) 80
4) 95
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14

15

The ratio of Ali's stickers to Dominic’s stickers is 3 : 4. The ratio of Ali's
stickers to Dominic’s and Wayne's stickers is 1 : 5. What is the ratio of
Al’s stickers to Dominic’s to Wayne's stickers?

(1)
(2)

(3

(4)

1:4:5
3:4:5
3:4:11

3:4:15

Rosna bought 7 goldfish. Wei Li bought g more goldfish than Rosna.
How many goldfish did they buy altogether?

(1)
(2)
(3)
(4)

qg+7
g+14
2q+7

4G+ 14
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Questions 16 to 25 carry 1 mark each. Write your answers in the spai:eé provided.
For questions which require units, give your answers in the units stated. (10 marks)

16 Wiite sixty-nine thousand and eleven in figures.

Ans:
17 Find the value of —g + 21.

Ans:
18  Express 5% as a decimal.

Ans:

19  Sally spent 2—;-11 dning her Social Studies project. Express the time she spent

doing her project in minutes.

Ans: min
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20 A machine packs 36 packets of peanuts in 12 seconds. At this rate, how many
packets of peanuts can it pack in 1 minute?

Ans:

21 A rectangular block of wood measures 30 cm by 12 cm by 10 cm. Davig'wants -

to cut out as many 3-cm cubes as possible from it. How many such cdbes can
he cut?

Ans:

22 Atap was tumed on to fill a tank with water to its brim. The line graph shows the
volume of water in the tank at regular intervals of time.

200
|
150
Volurpe
of
e 100
50
0
0 36 9 12 15 18
Time (min) '

How long did it take to fill the tank to its bam?

Ans: min
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23 3 of a numberis 16. Whatis 2% times the number?
Ans:
24 Inahall, there are 450 chairs. Four out of every five chairs are ootupied.
How many chairs are occupied? |
Ans:
25  Whatis the sum of 12 + 4r and 16 — 272
Ans:

Total mark for questions 16 to 25
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Questions ?6 to 35 carry 2 marks each. Show your working clearly in the space bafnw
each_ ques:tmn _and write your answers in the spaces provided. For questions which
require units, give your answers in the units stated. (20 marks)

26 Use all the digits 4, 2, 1 and 6 to form the Iargeét fﬂur—digit-whﬂle number that is
divisible by 7.

Ans:

27 IShade two more unit squares to make the figure below symmetrical 4bout the
ine AB.

A
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28 Write down the fraction exactly halfway between 5- and Egi- , inits simp!est form.

Ans:

29 The ratio of Siti's cards to Jiaming's cards was 4 - 9. If Jiaming gave EW
% of his cards, what would the ratio of Sltl S cards to Jiaming's cards be?

Ans:
30 Measure and write down the size of / x .
N
Ans:
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31 The timetable below shows when the bus departs from Orchard Hotel and arrives

at the airport.
Departure from Hotel Arrival at Airport
1305 1350 |
1340 1425
1415 1500
1440 1525
1515 1600

Mr Robinson wanted to take the 1305 bus from the hotel but he was 50 minutes

late. What would be the earliest time he could reach the alrpﬂl'l if he were to
take the next available bus?

Ans: p.Mm.

32 QRS is an isosceles triangte. QS = éﬂ-cm, find the area of the trangle.

Q__ 1l R
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33 Inthe figure, not drawn to scale, M is the centre of the circle.
What is the value of £ a ?

Ans:

34 A motorist started his journey at 10.45 a.m. He reached his destination at
11.30 a.m. How far did he travel if his average speed was 80 km/h?

Ans:

km

35 25% of Ramu's stamps were Malaysia stamps, 40% of them were Singapore

stamps and the rest were China stamps. If he had 40 more Singapore stamps
than China stamps, huw many Malaysia stamps did he have?

Ans:
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For questions 36 to 48, show your working clearly in the space provided for each
question and write your answers in the spaces provided.

The number of marks available is shown in brackets [ ]atthe end of each question
or part-question. (50 marks)

36 The pie chart below shows the number of pupils who are intere:ted in the
respective Co-curricular Activities in a school.

roller blading

480

(]

SOCCer .
robotics

300

chess

(@)  What percentage of the total number of pupils is inferested in roller
blading?

(b)  What s the ratio of the number of pupils who are interested in robotics to
those who are interested in chess? |

Ans: (a) [1]

(b) _ 2]
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37 The shaded part of the square is a quarter circle. If the area of the square is
36 cm”, find the area of the quarter circle. (Take x = 3.14)

(Give your answer correct to 1 decimal place)

Ans: [3]

38 In 2004, the number of male monkeys to the number of female monkeys in a zco
was 1:2. In 2005, 35 monkeys were added to the zoo. As a result, the number
of male monkeys was 4 times as many as in 2004 and the number of female
monkeys was 3 times as many as in 2004. How many monkeys were there

altogether in 20047

Ans: [3]
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39 Alarge piece of construction paper is cut in half and one piece is placed on top of

the other. These two pieces are cut in half and all pieces are placed in a pile.

The process is Eﬂ!‘iﬁnU’Ed. After the pieces have been cut and piled for the tenth
time, how many pieces of paper are there in the pile?

Ans: (3]

40  _Mrs Singh is 30 years old now. Ranjit is 1—15- of her age. In how many years’ time

will Mrs Singh be thrice Ranijit's age? -~

Ans: [4]

10 '
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41 4 metal cubes of edge 5 cm are placed in an empty rectangular tank measuring
20 cm by 11 cm by 20 cm. The tank is to be filled with water flowing from a tap
at a rate of 6 litres per minute. How long will it take to fill up the tank?

(1 litre = 1 000 cm’)

20 cm

e i S om sy s A R W OE R

Ans: (4]
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42  The figure shows four identical triangles, each of area 91 cm?, arranged to form a
big and a small square. A circle lies within the small square. Find the area of the
shaded part. (Take x = 3.14)

Ans: [4]

12
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43  There were more than 20 children at Mr Tan's party. When Mr Tan tried to divide

the children into 5 equal groups, the last group was short of 2 children. When he

tried to divide them into 7 equal groups, the last group was short of 1 children.
How many children were at the party?

(Write down the smallest possible number.)

Ans: [4]
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44 In the figure below, not drawn fo scale, both ABD and ACEF are straight lines.
ZBAC=15°and AB=BC=CD=DE. Find Z x

Ans: [4)

14 i
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45 Town A and Town B are 435 km apart. At9.15 a.m., a car left Town A and
travelled towards Town B at a constant speed of 80 km/h. At the same time, a

lorry left Town B and travelled towards Town A at a '
consfant speed. When th
mel, the car had travelled a distance of 240 km.$ ¥ - >

(@)  Atwhat time did the two vehicles meet?

(b)  Find the speed of the lorry.

Ans: (a) (2]

(b) 2]
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46  There were 80 members in the Gymnastics club. 30% of them were girls. When

some girls left the club, the percentage of the girls dropped to 20%. How many
girls left the club?

Ans: [4]

16 -
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47 PQRS s a square of sides 14 cm. A semicircle sits on top of the square.

. PO and OQ are two equal quarter arcs. (Take 5 = E%}
7

(@)  Find the total shaded area of the figure.

x%;' (b)  Find the perimeter of the shaded figure.

14 cm

Ans: (a) _ [3]

(b) (2]
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48

The diagram below shows 3 circles, A, B and C, overlapping one another.

The total area of B and C is g that of A. Given that —; of A is shaded,

% of B is shaded and 51- of C is shaded, find the ratio of the aréa of A to the

area of B to the area of C.

Ans: . (9]

Larm

End of Paper

18

WWW.misskoh.com


koh
New Stamp


—r—

Qi Q2 Q3 Q4 Qs
3 4 2 2 1
Q6 Q7 Q8 Q9 Q10
3 4 3 3 4
Q11 Q12 Q13 Qi4 Qis
1 4 3 3 2
16. 69011 21. 120 cubes
1
17. 927 22. 10 minutes
18. 5.25 23. 60
19. 132 minutes 24. 360 chairs
20. 180 packets of peanuts 25. (28 +2r)
26. 6412 27.
2 4 3
28. 9 18 9 29. S :J
5
= —{(Ans
.1_3...( ) : 9
8 18(—9)
8 9 (Ans)
30. | 223° (Ans) 31. |3 pm (Ans) )
Page 1 of 4
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32. [ 20x20=400 | |24°
=400 <+ 4= 100cm?
34.. | 60km 35. | 25% = Malaysia
40% = Singapore
35% = China
(100 -25-40)% = 35%
(40 —35)% = 5%
5% = 40
25% = 200 (Ans)
36a. [300x4 = 1260 37. | 236 = 6em
180 . 100 = 40 ST
1200 6x6x3.14x - = 2826
It is 40% ~ 28.3
It is 28.3cm” (Ans)
36b. | 1200 —300—-300—-480 = 120
300 : 120 = 5 : 2 (Ans)
38. 2004 2005 39. [1¥ time=1x 2 = 2
M : F M:F 2" time = 2 x 2 = 4
1 :2 4 : 6 3%¢me = 4 x 2 = §
4-6)+(6-2)=Tu 10“ time = 512 x 2 = 1024
Tu = 35 In the 10" time, there are 1024 pieces of
paper. (Ans)
Iu = §
3u = 5
There were 15 monkeys in 2004 (Ans)
0. | 1 o e 41. | 5%m = 125¢m?
15
30 — 2 = 28 125 x 4 = 500cm?®
¥ 20 x 11 x 20 = 4400cm’
S R = 4400 — 500 = 3900cm’
S—— ~ 3900
28 6000
28 =2 =14 = {).65 minutes (Ans)

14 - 2 = 12 (Ans)
In 12 years time, Mrs Singh will be thrice of
Ranjit’s age.

Page 2 of 4
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42. 20 x 20 = 400 43. | Multiples of S minus 2 (above 20)
=400 — (91x4) = 36 (25-2) (30-2) 35-2) (40-2)
236 = 6cm =23 28 33 38
6 ~2 =3 Maultiples of 7 minus 4 (above 20)
3x3x3.14 = 28.26 (28—-4) (35-4) (42-4)
= 36 — 28.26 = 7.74 = 24 31 38
itis 7.74cm? (Ans)
44, 180° — 15°—15° = 150° 43a. | 240 = 80 = 3hours
180° — 150° = 30° 9.15am + 3hours = 12.15pm
180° — 30° — 30° = 120° At 12.15pm the two vehicles met.
180° — 15°—-120° = 45°
180° — 45° = 135 43b. | 435 — 240 = 195
Z x is 135° (Ans) Jhours = 195
. 1 hour = 65
Its speed is 65km/h (Ans)
46. 100 — 30)% = 70% 47a.
( ) ’ ? % x 14 x 14 = 147
76% x 80 = 56 boys 14 +2 =17
= 80 — 56 |
~ x 7x7X 22 = 77
2 7
= 24 girls 17 + 147 = 224
(100 - 20)% = 80% It is 224cm?
80% = 356
20% x 710 = 14 47b.
* L uxZ-n
2 7
= 24 - 14
14 x 22 X 1 = 11
7 4
= 10 11 + 11 + 14 + 14 + 22 = T2em
10 girls left the club. (Ans) It is 72cm (Ans)

Page 3 of 4
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48.

B+ C =40
A = Su
C = xXu
B = (4 — x)u
B 5
Shaded A = — x Su= —u
| 6 6
Shaded B = -;(4-1)11
Shaded C = %xu
I 1 5
—_ 4....1 -+ — X = —
5( ) 3 6
5 5 3 6
| l 5 4
3 5 6 5
10 6 25 24
X S
30 30 30 30
4 |
__.-_I — ——
30 30
1 30
I = —
30 4
l
= —u
4
1
4
B={3# —-x)u
= 3§-u
4
A B C
5 33 L
4 4
5 15 1
4 4
20 : 15 1 (Ans)
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